A
a7.  © {88, H808° PA=4 0.2, BQ= 3 0.2
B C
Q
$08030 AC=11 0.2 @oweséjéa BC=........... 200.20.
In the adjacent figure, If PA=4 ¢cm, BQ= 3 cm and
AC=11 cm, then BC=............ cm.
1) 15 2) 14 3)7 4) 10
48. (8o& & aééqho&. ; Match the following.
1) FEH0 HodH8Sre00 a) zr’h
1
2) @50 po5HOBTw0 b) 37 r’h
3) Foa0d) PSHBST00 c) 37 r’
4 5
4) Jgpddeo P05H58 S0 d) gﬂr

1)15a,2>b,3—>5c¢,4>d 2)1->d,2—>¢c,3—>b,4>a
3)1>5b,2-5d,3—5a,4—>c 4)1-5d,2—>b,3—>5c,4—>a

49.cosec (75° +0) -sec(15° - 0) - tan (55° + 0) + cot (35° - 0)
1) -1 2) 0 3)1 4) 2

50. If 7'09: +2X+9=0" then (%903336) X =
1) _3 2) 3

3) 5§5§}ge‘.§o s°¢o ; Does not exist 4) -8

All the Best @
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NAME & oottt Date : 03 - 12 - 2017
Max. Marks : 50
SChOOl e Time : 10 am. - 11 am.

doecsden : 1) 808 HIL HBDH HBRTTR, APVOBH 1, 2, 3 TP 4 & Lo A8 HHTED HFHO
(OMR Sheet) Hoto 20,88 DERED. HB HOGHD HHPTIHHVHL 1 HoB
2) B S, VETHBNDHL 1/4 30605 S0B0 K960 15008 SDFcHD.

1. 72,126 5008050 270 © K.30.e.

The H.C.F. of 72, 126 and 270 is

1) 12 2) 18 3) 14 4) 6
2. A 58050 B oo 90558 s,
n(A)=4, n(AUB)=10 @ n(B)=
A and B are disjoint sets. If n(A)=4,n(AuUB)=10,
then n(B) =
1)5 2) 4 3)6 4) 14

X2 4+x3-x°
3. (=

” DTVIH &;oézf HBSorea S0

X2 exPox®
Degree of the polynomial O is

1) d8gDowBS0 ; Not defined  2) 8
3) 3 4)5

4. aX +by +Cc =0 9038 X 508050 y 9 Bodk SEordheos®

BDO JHEST e BSM SrD0THRLE IS TR L0E80 @

'~

7,

N

43.

44,

45,

46.

P(X)=X*-3X -4 afodd SPABEnS” X-§S50s
OO0 B PSS HoBOYHO F0Egesrsdn

The distance between the two intersecting points of
X-axis and the graph of p(x)=x*-3x-4 is
1) 2 units 2) 3 units 3) 4 units

2.8 S0¢o8® dopg IS 03w I0&7A8 43 S8 &

4) 5 units

©O0S® ©2TA8 23 oS e SICEI

If a two digit number is four times the sum of its digits
and twice the product of it digits, then the number is

1) 63 2) 36 3) 39 4) 18
2x? —\/§X—5 =088 JDES00 Soreren EOFKLE xS
Dopgdd EOVI TPAQ G500 ) oTn eVl Kagé’éé BRI 0?

Which constant should be added to solve the quadratic

equation 2x? _\/§X_5 =0 by the method of completing
the square?

9 3 3 \3
Y 16 2 16 3% Vo
P C__ 45
5 4y
©E)DL0 Dod X HBw Y B
3 Q A

do=oPSn ; From the adjacent figure the relation
between x and vy is

1) x+y=135 2) x-y=2 3) 2x+y=10

@

4) x—-2y=6

'~

7,




'~

39.

40.

41,

42.

“

If x =3sec?9—1 and ($o8c50)y =tan®0 -2, then (®ons)
X -3y =

1) 3 2) 4 3)8 4)5

©I58° e DoNE TS PO S0 ABIETIS s o

X-0§0 2 808 58K,
To draw the more than type ogive curve ............ should be

taken on X-axis.
1) &%0S Krcﬁgezo ; Lower boundaries

2) A0S oo ; Upper boundaries
3) ©38°5r0 HoNg F: JSgo ; GCF

4) S: YSgo ; Frequency

log,1.3 =

4
1) -1 2)1

9 O, . 1
3) 16 4) 25§25<8e§0 s°¢0 ; does not exist

n(A)=21,n(B)=43 wons Nn(AUB) $% fo K63
508050 59 Devseo

If n(A)=21, n(B)=43, then greatest and least values
of n(AUB)=
1) 21, 43 2) 21, 22

3) 60, 43 4) 64, 43

7,

N

'~

The condition, if ax +by +¢ =0 represents a linear
equation in two variables x and y is

1) a®?+b*=0 2)a®*+b*=20 3 a+b=04) a+b=0
B0y Hd $SYrg domge wyo 306 wdly SEHMESw0

The product of two Consecutive positive integers is 306.
Representation in quadratic equation is

1) x* +x-306=0 2) x*~x+306=0

3) x*+2x-106=0 4) x> ~x-306=0

ABCD oro2d &°, AB=4 0.0 @003 AC? + BD? =

If in a rhombus ABCD, AB=4cm, then AC? + BD? =

1) 72 2) 64 3) 32 4) 80

28 S)Eed) Tot F3gE DochPhe H§ Po&oT Tpo......... ©0¢rd

A line which intersects the given circle at two distinct points
is called a

1) &40 5 Tangent
3) &g ; Chord

2) P850 ; Secant
4) & ¢ ; None

58800 030y @O & (Bod DTsTre HBwm o

A vender selling an ice cream. It may be in the
combination of

1) @eHh=o, ogi*¥o ; Triangle, Hemisphere
2) fog0) , @gﬁ"«fﬁo ; Cone, Hemisphere
3) oo, e—agzéégo : Cone, Semi circle

4) é:a;o“)o, aéggéo ; Cylinder, Circle

\/_12 —sin?0 —cos?0 =
sin“ 0

1) sin6 2) tan@ 3) cos@ 4) cot0




=)

11.

12.

13.

14.

15.

2,2,2,3,3,3,4, 4, 4 o rdo¥ssn

Mode of the data 2, 2, 2, 3, 3, 3, 4,4, 4 is

1)2,3 2) 3,4

3)2,3,4 4) 5§5§}3e‘.§o 50 ; Does not exist

808 7°S® ©oB05° 8IYS dFroFo AH?
Which of the following will be converted in to a non -

terminating decimal?

R T 7
) 60 75

A C B 9008 & 806 a8ES° 28 H85500?

If A c B, then which of the following is true?

1)AUB =B 2) AnB =A

3y A-B=¢ 4) 25 ; All the above
X2 41 DTV e Lrrgod EOA wotaod.
Polynomial 2 +1 has «..ccoevvveieninannnn, zeroes.

1) &3 28 o705 ; Only one real 2) o°d%0 5°Q ; No real
4) o8 05 59805

w8 N0 5°Q ; One real and the other non-real

808 a°d5® 3X +2y +8 =0 08050 2Xx +y +4=0

3) oo o795 ; Only two real

DAESeT 0 PGS AQ?

Which of the following is a solution of 3x +2y +8 =0
and 2x +y +4=07

1) (-2,-1) 2) (1,2)
3x?-14x +k =0 3¢ dESw0 B0, Jged 100 wond k=

3 (12 4(0-4)

If the discriminant of 3x?2 —14x +k =0 is 100, then I(@

'~

7,

N

35.

36. 2§ w028 Bghzo ABC &° %cgé;:; ‘B S 002080350 0d.M,N

37.

38.

\
x> —(k+6)x+2(2k-1)=0 58 Dan¥So By Swrere Zgo

T Sorere ©go S* 38 d3ebo ®od k =
If the sum of the roots of the equation

x> —(k+6)x+2(2k-1)=0 is equal to half of the product,

then k =
1)6 2) 7 3)1 4) 5

00 SEHHM AB 58050 BC o 506550050935 4(AN? +CM?) =

If ABC is a right angled triangle, right angled at vertex
‘B’ and M, N are the mid-points of AB and BC

respectively, then 4(AN 24+CM 2) =

5

1) 4AC? 2) 5AC? 3) ZACZ 4) 6AC?

&), HLosS® 2B wdEg0?

S

From the adjacent figure,which of the following is false?
1) £0TP =90° 2) LOPT =60°
3) PT=PS 4) /TPS + Z/TOS =180°
6 0.0, 8 20.20, 10 0.2 TgFTe0 fo Sk ST
Ferod §0A0D a8 g MESom S8, T TgHHW ....... 0.3

If the three metallic spheres of radii 6 cm, 8 cm and
10 cm are melted into form a single sphere, then

the diameter of resulting sphere is .......... cm.
1) 12 2) 24 3) 30 4) 36@

7,

'~




S1.

32.

= {whole numbers lessthan10}.then (A-B)n(B-A) =

33.

34.

30, 34, 35, 36, 37, 38, 39, 40 © &0& 35 & SofodS
&égﬁéo Q0 DBH0H?

If 35 is deleted from the data 30, 34, 35, 36, 37, 38, 39,

40, then the median is increased by
1) 0.5 2)1 3)15 4) 2

Sorecho S0 &8 g Sowge ©20 IYBYE......... BABRom

A0S0 0R.

Product of any three consecutive positive numbers is
always divisible by
1)5 2)6 3) 10 4) 15

A= {20 808 S5 IS WIS K)os.:ge:o},
B= {10 %08 859,38 Yroosen} wons (A-B)n(B-A)=

If A ={prime numbers lessthan 20},

1) ¢ 2) 1 3)A 4)B

x3 X +1 %0 x -5 B grAodd i) errHo80 $o0080 3hB0
The gquotient and remainder when x3 _x 41

is divided by (x —5) are

2) x> -5x +24, -121
4) x* +5x - 24,121

1) x® +5x + 24,121
3) x*-5x -24,121
08 B SHOFTE S0 DR oSS* Hisw 36 L. T FED,

Jbe0y 0B 4 W. B S oS & 'L IT VR0 s 5.0,

Half the perimeter of a rectangular garden is 36 m.
If the length is 4 m more than its width, then
the area of the garden is ....... m?

1) 360 2) 300

'~

N

4) 400 @

1) 4 2)8 3) -3 4) 2
16. AABC ~APQR $08050 AABC Jzregin=4(APQR Sz egsdm).
BC=12 %0.2, wond QR=........... 20.30.
AABC ~APQR, Such that ar(AABC)=4 ar(APQR).
If BC=12 cm, then QR=........... cm.
1)9 2) 10 3)6 4) 8
17. 5 0.0 dgrgom o S5)8 So@o. ‘0§80 3 0.0 rdos®
fo DoY) S0d AoDkS Byd) Speo dopg
If Radius of a circle with centre ‘O’ is 5 cm. P is a point
at a distance of 3 cm<from ‘O’, then the number of
tangents that can be drawn to the circle is
1)1 2)2 3)0 4) 3
18. 20 200.20 FEQ,14 0.0 Ideny Ko 5?})&56&6@"96 SRS K808
T IE0) 08 SFPS 0T SO Q T LrarglLo ... 200.30.
If a rectangular paper of length 20 cm and width 14 cm
is revolved along its width and cylinder is formed, then
radius.of its base is ............. cm.
1) 35 2)11 3 1 4 §
) ) ) 35 ) 11
19. 'SeC2A =cosec (A -27°), 2A 050800 ©o0d /A=
If sec2A =cosec (A—27°), where 2A is an acute angle
then the measure of /A is
1) 35° 2) 37° 3) 39° 4) 21°
20. 11 oode 35580 50. 088 &8 ordHe den 49 08050 DH0
B8 orHo dfen 52 ®ond 65 o°8 (WoFdw)
The mean of 11 observations is 50. If the mean of first six
observations is 49 and that of last six observations is 52,
then the sixth observation is @\
e 1) 56 2) 55 3) 54 4) 53 /]




'~

P2.

3.

P4,

©08KBS (FE0E drrodo Bod FAS® BIS $58908?
The fundamental theorem of arithmetic is applicable

to the number is

1) 4 2) 3 3) 2 4) 1
& 1808 TEBS® DB DE Sored DS 5°¢0?
Which of the following is not a singleton set?
1) {x:3x-1<5xeN}

) {X:20x -39=0,x e N}
3) {x:x-2=0,x eN}

) {X X 0386 @ domwg, X < 3}; {X:x isa prime,x < 3}

DR TVIB 3x3 — 9 +15x +12 Rw¥), Trrgeo a,B,y oo

1 1 1
wond — TS T =
a By
If o,B,y are the zeroes of the cubic polynomial
. 1 +1+1
3 _09gx? ,then — TS T7—=
3x° —9x“ +15x +12 o By
1 Wi 5 =2 >
) 3 ) & ) 3 ) 2
9
&8 HHI0 S Y, TS0 2 Erdm ob 11 ©HBo&.
)
@R ©5, TSSO’ 3 Erdm ©& 5 ©:HE08. WO & HHHW

9
A fraction becomes ﬁ if 2 is added to both the numeraj

tor and denominator. If 3 is added to both the numerator

5
and denominator it becomes E then the fraction is

©
0|~
| N
2
N|©
)

1) —= 2)

7 3~

(o)

(a

1 (4 I
25. x>0 0088w X:;‘Fl POV X Dend
1 .
If x>0 and X=;+1, then the value of ‘X’ is
J5-1 J5+1 J5-1 V5 +1
1) —— ) 3) —— 4)
2 2 4 4
6. @8 He0 S® ‘X’ dend ; The value
R
represented by ‘X’ from the adjacent figure is
1) 7.5 cm 2).6 cm 3) 8 cm 4) 12 cm
27. K&05r808" e S0 20 i s700S” (@hoo Vs o
Angle made by the minutes hand in a clock during a
period of 20 minutes is
1) 120° 2) 20° 3) 360° 4) 90°
28. 28 Frarggo, H5rSdden o dpard), Fopodhd Sodan
) &8 S8R0 aod AlE® Saird TR, SIS A K0
DOIVB 00 EDAEy0LTT0N0.
A cylinder, cone and sphere have made with the same
iron sheet of equal radii and heights. Then which one
contain maximum volume of liquid.
1) o0 ; cone 2) ¢d0 ; sphere
3) dpdsw ; cylinder 4) HBH» ; can't say
4
29. If cotb = § , then (o) cos’0-sin?0 =
1) ! 2)1 3) ! 4) 4
—_— —_—— —_— 7 N
\ 25 25 25 C:J




